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147 Bk M 2673.5 256. 0 3 {Z 60. 0 10.0 | 186.0
200 | At 2092. 0 202, 5 4 if | 148.0 65. 0 19.5
34L |BF R 1906. 5 149.0 9 {ir 50. 0 80.0 19.0
4 hr | &= I 1735. 0 121.0 11 fir 80. 0 30. 0 11.0
5 AL |ft  JE 1726. 5 115.0 12 {ir 95. 0 10. 0 10. 0
66 | K BR 1542. 5 161.0 IR 141.0 10.0 10.0
(R | 1455. 6 85.0 15 {ir 57.0 10.0 18.0
8 fir | T I 1436. 0 31.0 32 fif 11.0 10.0 10.0
9 fir |t A#B 1416.5 75. 0 19 {ir 40. 0 25.0 10. 0
10 iz |4k ¥ 15 1408. 5 425. 0 LA ) 212.0 75. 0 138. 0
11 fiz |k % 1300. 5 30. 0 33 fif 10. 0 10. 0 10.0
12 7 [t [ 1297. 5 73.0 21 {if 41.0 10, 0 920
1347 |2 bk 1247.5 82.0 18 fif 49. 0 20. 0 13.0
14 {7 |HE & 1148.5 57.0 24 fif 37.0 10.0 10. 0
15 {7 | & [ 1139.5 30. 0 33 {i 10. 0 10. 0 10. 0
16 {7 |l 14 1113.0 58.0 23 fir 32.0 10.0 16. 0
17462 A 1106. 0 38.0 29 {ir 10.0 15.0 13.0
1842 |l B 1093. 0 54.0 25 {if 34.0 10.0 10.0
19 7 |&F 3 1074. 0 177. 5 6 {ir 14.0 10.0 153. 5
20 fir | R 1071.5 62. 0 22 {if 28.0 10.0 24,0
21 e |BE T 1051. 5 220. 0 SR NTA 137.0 35.0 48.0
22 i |15 K 1032. 5 74,0 20 {ir 22.0 40. 0 12,0
23 fir | & B 1007. 0 333.0 2 fir | 181.0 10. 0 142.0
24 L (& & 933.0 54. 0 25 {ir 17.0 10. 0 27.0
25 A7 IR Ml 907. 0 85. 0 15 {if 40. 0 35. 0 10. 0
26 i [ H 903. 5 54. 0 25 i 10. 0 20. 0 24. 0
27 67 |'5 1l 900. 0 90. 0 14 fif 26.0 10. 0 54. 0
281 |&8 B 896. 0 20.0 42 7 0.0 10.0 10.0
29 i |F I 884.5 42.0 28 fif 22.0 10. 0 10. 0
30 fir [l AL 882. 0 158. 0 8 {if 138. 0 10.0 10. 0
3L |fe M 872.5 36.0 31 fif 10. 0 10. 0 16. 0
32 fif | A& 868. 0 138.0 10 {fir 52. 0 40.0 46. 0
33A7 | JE 853.5 100. 0 13 fir 36. 0 10. 0 54.0
M |m T 827.5 83.0 17 fir 16.0 10. 0 57.0
3647 | R IF 819. 5 30. 0 33 {if 10.0 10. 0 10. 0
36 07 = I 819.0 30.0 33 fir 10. 0 10. 0 10,0
3T [= = 795. 0 30. 0 33 {ir 10. 0 10. 0 10.0
RER VA LG 793. 5 30.0 33 {ir 10.0 10. 0 10.0
39 fir |1l ] 789. 0 20. 0 42 {if 0.0 10.0 10. 0
10 A7 [ A 771.5 20. 0 42 {if 0.0 10. 0 10. 0
41 47 [ IR & 744. 0 30. 0 33 {ir 10.0 10. 0 10. 0
42 fr & IE 736.5 30.0 33 fif 10.0 10.0 10.0
43 {7 |5 e 731.5 37.0 30 A7 10.0 10.0 17.0
44 iz |5 IR 683. 5 30.0 33 {f 10. 0 10.0 10.0
A5 {7 [Fn &KL 641.5 10.0 47 fir 0.0 0.0 10.0
16 fr 1= 593. 0 20.0 42 fir 0.0 10.0 10.0
A7 {7 [T B 565. 5 20. 0 42 i1 10. 0 0.0 10.0
) Fan 51285. 0 4136, 0 1956. 0 810.0 | 1370.0
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[H] 2417.5 1 i 73.0 87.0 30.0 40. 0 53. 0 70. 0
il 1859. 5 2fir | 105.0 | 333.0 74,0 52.0 62.0 10.0
ES 1757. 5 3 {1 77.5 | 276.0 78. 0 22.0 25. 0 74.0
£ 1614. 0 4 fif 74.0 275. 5 66. 0 28.0 16.0 10. 0
Ji 1611.5 5 {if 94. 0 110.5 94. 0 19. 0 30.0 10. 0
B 1381.5 1 it 74.0 214.0 10.0 61.0 28.0 10.0
) 1370. 5 8 fir 71.5 112.0 10. 0 25. 0 106. 0 74. 0
3 1405. 0 6z | 129.0 148.0 94. 0 40, 0 20. 0 10.0
o # 1341. 5 9 fir 64.0 87.5 106.0 31.0 30.0 66. 0
it ¥ 5 983. 5 19 {i7 96. 0 14. 0 30. 0 19.0 26. 0 50. 0
X 1270.5 10 fr 21.0 55. 0 10. 0 10.0 94. 0 10. 0
& [ 1224. 5 11 {ir 88. 0 81.5 30.0 37.0 10. 0 10.0
R 1165. 5 12 fir 80. 0 31.0 10.0 10.0 63. 0 30. 0
e K 1091. 5 14 {7 33.0 37.0 10. 0 31.0 10.0 78.0
= fif] 1109, 5 13 fir | 105.5 77. 0 30. 0 10. 0 15. 0 10. 0
T 1055. 0 16 {if 60. 0 17. 0 50. 0 19.0 50. 0 10. 0
£ ) 1068. 0 15 fif 53.0 47.0 10.0 10. 0 12.0 10. 0
N B 1039. 0 17 A 54. 0 69. 0 10. 0 10. 0 13.0 50. 0
i) 896. 5 21 fr 59.5 88.0 86.0 | 13.0 47.0 10.0
B 1009. 5 18 fif 50. 0 35.0 10.0 22.0 78.0 | 182.0
5 831.5 27 {if. 64. 0 140. 5 10. 0 10. 0 18.0 10.0
ZiS 958. 5 20 {ir 49. 0 57.0 50. 0 10.0 10.0 106. 0
£ B 674. 0 43 ir 67.0 25.5 10.0 25.0 10.0 10. 0
& B 879. 0 22 {ir 76. 0 54. 0 30.0 10. 0 26. 0 10. 0
A 822. 0 28 fif 38.0 39. 0 10. 0 10. 0 20. 0 10. 0
EOH 849. 5 24 i1 32.0 19. 0 10.0 10.0 87.0 30.0
E W 810.0 29 fir 21.0 21.0 30. 0 10. 0 53.0 50. 0
= B 876. 0 23 fif 67.0 32. 0 10. 0 10. 0 10. 0 130. 0
& I 842. 5 25 fir 42, 0 21.0 10. 0 10. 0 10. 0 30.0
[ Al 724. 0 39 {iL 39.0 35.0 10.0 10. 0 19.0 10. 0
= A 836. 5 26 fir 16. 0 16.0 10.0 28.0 13.0 10. 0
5 730. 0 38 {ir 75.0 10. 0 10.0 10. 0 12.0 10. 0
(N7 753. 5 35 i 38.0 16. 0 10.0 10.0 17.0 10. 0
= 744, 5 37 fr 22.0 15.0 10.0 10.0 19.0 90. 0
& 789. 5 30 {if 65. 0 29.0 30. 0 10. 0 21.0 10. 0
N 789. 0 31 i 28.0 21. 0 50. 0 16.0 10.0 10. 0
= i 765. 0 33 {if 52.0 30. 0 66. 0 34.0 10. 0 0.0
T 763.5 34 if 29. 0 25. 0 10.0 10. 0 140. 0 30. 0
o 769. 0 32 fir 30. 0 10. 0 10. 0 10. 0 42. 0 10. 0
U 751.5 36 f\f 23.0 10. 0 10. 0 10. 0 10. 0 10. 0
HE R B 714. 0 40 fif. 37.0 51.0 10. 0 34. 0 10. 0 30.0
T IE 706. 5 41 {ir 45.0 12. 0 10. 0 16. 0 115.0 10.0
5 HY 694. 5 42 {7 24,0 27.0 10. 0 25.0 10.0 10.0
& AR 653. 5 44 (ir 11.0 12. 0 10. 0 10. 0 38.0 162. 0
Fo R 631.5 45 {if 16. 0 10. 0 10. 0 25.0 12.0 10. 0
| 573.0 16 {if 23.0 10. 0 10.0 10.0 10. 0 10. 0
B 545, 5 47 {1 29.0 10. 0 30. 0 10.0 10.0 10.0
47149. 0 2520.0 | 2953.0 | 1334.0 | 902.0 | 1550.0 | 1612.0
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B m|[ 25.5 [ 214.5 [ 125.0 | 130.0 | 103.5 57.0 | 59.0 | 70.0 [ 51.0
i x| 515 | 47.5 62.5 | 85.0 27.0| 36.0| 420 10.0] 14.0
B k| 24.5] 65.5] 94.0 10.0 [ 48.5 13.0 [ 7.0 62.5 | 19.0 |
wh &)l 15.0 | 38.0 40. 0 10. 0 33.0 | 33.0 22.0 | 22.5| 36.0
f.  JE]  28.5 139. 5 19.0 10. 0 53.0 58.0 59. 0 2. 5 34.0
X ®| 385 17.5 64.0 10.0 | 30.0 | 22.0| 380 825 200
% | 28.5 27.5 |  41.5 62. 5 22.0 30.0 | 40.0 75. 0 18.0
T % 45.0| 10.0| 16.0] 77.5 38.5 |  29.0 26. 0 10.0 [ 21.0
s # 15,0 | 67.5 | 35.5 22.5 42.0 30.0 53.0 | 50.0 20. 0
Ak i aE]  42.0 54. 5 27.0 22.5 15.5 12.0 15.0 10.0 13.0
< ] 150 730 30.0 [ 10.0 37.0 | 3L.0 57.0 | 22.5 | 27.0
wo ) 12,5 50.0 | 23.5 2.5 23.0 55.0 | 67.0 | 10.0 | 10.0 |
= g 10.0 | 67.5 10.0 | 37.5 28.0 | 22.0 50.0 | 10.0 | 52.0
AE A] 585 10.0 20. 0 57.5 | 28.0 | 10.0 58.0 | 50.0 60. 0
Bf [ 10. 0 51.5 19. 0 10. 0 60. 0 30. 0 25, 0 10. 0 10. 0
[ il 84.5 [ 40.0 61.0 [ 10.0 38.5 | 48.0 63.0 | 22.5 19.0
A JIIf 19.5 10.0 | 10.0 65.0 | 20.5 40.0 |  78.0 65.0 | 14.0
o Bl 42.5 | 125.5 16.0 | 10.0 28.0 13.0 | 15.0 70.0 | 23.0
#ro Bl 315 | 450 10. 0 92.5 18.0 18.0 | 29.0 | 10.0 b
g Bl 12,5 17.5 35. 0 45.0 39. 0 25. 0 22. 0 10. 0 30.0
e Bl 22,0 10.0 10. 0 22.5 50.5 [ 10.0 29.0 | 10.0 12.0
i Al 20.5 17.5 | 10.0 10.0 | 25.5 10,0 | 48.0 | 10.0 | 47.0
£ ¥ 100 | 57.0 150 10.0| 330 10.0 10.0 10.0 | 11.0
5Bl 115 10.0 | 10.0 10. 0 43.5 | 15.0 |  62.0 10.0 | 79.0
W i 19.5 10. 0 10. 0 10. 0 52.5 31.0 34. 0 47.5 10. 0
BE &l 100 | 50.0 10. 0 20.5 22.5 |  40.0 24.0 | 10.0 10. 0
® (] 10.0 10,0 | 10.0 | 10.0 12.5 10.0 | 22.0 10.0 | 12.0
= Bl 30.0] 10.0 10.0 | 22.5 28.5 | 100 21.0 | 10.0 | 59.0
# I 20.5 10.0 | 10.0 10.0 | 45.5 14.0 54.0 47.5 | 15.0
(A 10.0 10. 0 10. 0 10. 0 33.0 10. 0 86. 0 10. 0 25. 0
% Bl 20.5 45.0 | 86.0 10.0 [ 32.0 47.0 | 11.0 35.0 | 10.0
& & 43.5 10.0 50. 0 10.0 38.5 | 10.0 15.0 [ 10.0 23.0
Bl 57.5 55,5 10.0 22.5 | 20.0 10.0 | 41.0 10.0 | 10.0
w  F| 10.0 10.0 [ 30.0 22.5 36.5 | 10.0 p2.01 U5 14.0
]l 10.0 60.0 31.0 10. 0 25.5 14.0 37.0 10. 0 10.0
= Im]  28.5 10.0 [ 35.0 22.5 | 150 10.0 63.0 | 10.0 | 10.0
= ®E 12.5] 10.0 10.0 | 10.0 48.5 |  31.0 54.0 | 35.0 | 32.0
fm | 18.0 10.0 | 25.0 22.5 17.5 14.0 20. 0 50.0 |  43.0
I [l 10,0 | 27.5 10. 0 37.5 38.0 | 80.0 31.0 10.0 19. 0
pp i 10.0 74.0 10. 0 245 20. 0 16.0 89. 0 22.5 21.0
HE U Bl 18.0 10.0 10.0 10.0 24.5 18.0 12.0 | 45.0 20.0
& i 27.0 | 10.0 10.0 10. 0 36.5 10.0 [ 13.0 10.0 | 11.0
& Bl 10.0| 100 250 10.0 22.0 [ 12,0 10. 0 10.0 32.0
B M| 100 | 10.0 10,0 | 10.0 15.0 19.0 | 14.0 10.0 | 10.0
Fioosk ) 10.0 10.0 16. 0 10. 0 17-5 25. 0 11.0 10. 0 25. 0
o Al 10.0 10. 0 10.0 22.5 18.0 10.0 | 24.0 10.0 | 10.0
B 10.0 7.5 20. 0 10. 0 45, 0 10. 0 24. 0 10. 0 10. 0
1046.0 | 1766.0 ] 1262.0 | 1190.0 | 1550.0 [ 1118.0 | 1766.0 | 1190.0 [ 1118.0
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K H| 40.0 ] 26.5 | 820 17.5 30. 0 58. 0 8.6 [ 30.0 [ #2.
W s 45.0 | 31.0 18.0 | 25.0| 32.0 64. 0 85. 0 82.0 | 17.°
#  F|  50.0 [ 34.0 | 10.0 64. 0 30.5 | 49.0 37.5 | 10.0 | 49
#h 4 I 10.0 | 50.5 10.0 | 10.0 28. 0 55.0 | 85.0 | 114.0 | 28
. ] 80.0 | 10.0 10. 0 43.5 50. 0 13.0 40.5 | 134.0 25.
X Bx| 40.0 | 340 420 10.0| 56.0 10.0 10.0 [ 62.0 25.
& H|  10.0 | 17.5 | 34.0 25.0 | 14.0 10.0 | 10.0 | 30.0 [ 10.0
¥ 45.0 | 17.5 50.0 | 10.0 72.0 | 10.0 17.5 |  82.0 17.5
0 ffl 50.0 | 38.5 74.0 10.0 | 10.0 40.0 | 22.5 10.0 | 10.0
b g aE] 10,0 17.5 58.0 10, 0 18. 0 28.0 34.0 30. 0 40.0
K A 10,0 17.5 10.0 28.0 | 13.0 70.0 | 42.5 10.0 10.0
]  10.0 | 17.5 | 10.0 10.0 23.0 10.0 |  37.5 62.0 | 28.0
= W 35.0 [ 25.0 10.0 | 10.0 17.0 22.0 10.0 |  50.0 825
HE | 10,0 | 17.5 10.0 50.0 | 10.0 31.0 10. 0 10. 0 38.5
B Bl 20.0 | 34.0 66.0 17.5 48. 0 10. 0 35.5 30.0 25. 0
] 1y  25.0 ] 10.0 10. 0 10.0 | 43.0 10.0 |  22.5 10. 0 10. 0
£ JII 10.0 | 34.0 10. 0 52.5 20.5 10. 0 45.0 62.0 55. 0
I Bl 50.0| 17.5 10.0 | 10.0 20.0 | 10.0 43.5 10.0 10. 0
¥ B 20.0 | 10.0 66. 0 17.5 28. 0 10.0 | 10.0 10.0 | 17.5
I, 2l 10.0 | 47.5 10. 0 17.5 16.0 10.0 10.0 10. 0 10. 0
#E Sl 50.0 ] 10.0 10.0 10. 0 10. 0 58.10 10.0 82.0 10. 0
i A 10,0 | 10.0 18.0 10.0 [ 22.0 10.0 | 10.0 62.0 10. 0
£ #] 10,0 | 10.0 26.0 | 10.0 39.0 10.0 10.0 | 10.0 10.0
fm k| 10.0 [ 10.0 |  10.0 17.5 | 39.0 28.0 |  10.0 50.0 [ 10.0
K W] 10.0 | 26.5 42.0 35.0 12.0 40. 0 10. 0 10.0 10. 0
gl 10.0 [ 10.0 50. 0 10.0 13.0 10.0 10.0 82.0 | 35.5
@ ) 30.0] 10.0 26.0 22.5 18.0 | 58.0 17.5 30.0 38.5
Zs Bl 90.0 | 10.0 10.0 10. 0 40. 0 10.0 22.5 10. 0 10. 0
& JIf  50.0 17.5 | 10.0 92.5 16. 5 52.0 10.0 | 10.0 17. 5
(A 10.0 | 10.0 10.0 10. 0 23.0 10.0 10. 0 10. 0 10. 0
= &l 10.0 ] 10.0 ] 42.0 10. 0 10.0 10. 0 10.0 | 62,0 | 10.0
5 & 10,0 | 715 10.0 5.0 | 18.0 25.0 10.0 10. 0 11.5
W gl 10,0 | 17.5 10. 0 10.0 16. 0 34. 0 10.0 | 10.0 10. 0
= B 10,0 10.0 66. 0 17.5 19.0 10.0 | 17.5 10. 0 10.0
K i 30.0 10. 0 10. 0 28. 0 10. 0 10.0 10. 0 10.0 10. 0
B I 350 17.5 10. 0 10. 0 12,9 10.0 | 43.5 82.0 [ 10.0
= & 50.0| 10.0 10.0 10.0 17.0 | 10.0 10.0 | 10.0 10. 0
#  JH 10,0 | 10.0 18.0 10. 0 10.0 28.0 | 10.0 10.0 | 28.0
o\l 10.0 | 10.0 7.0 | 10.0 12.0 | 16.0 10.0 10.0 10.0
M MR 10,0 10.0 74.0 10. 0 10. 0 10.0 10. 0 30.0 10. 0
HE R 100 | 10,0 10. 0 10. 0 97.5 10. 0 10. 0 62. 0 10.0
T gl 25.0 | 10.0 34. 0 10.0 10. 0 13.0 35.0 10. 0 10. 0
S H]  10.0 | 10.0 74.0 34.0 17.0 10.0 [ 10.0 10. 0 10.0
B M) 10.0 | 26.5 10. 0 10. 0 10.0 22.0 [ 10.0 10.0 |  10.0
Foosk bl 50.0 | 17.5 10. 0 10. 0 13.0 70. 0 10. 0 10. 0 10.0
w o &l 100 1000 50.0 10.0 | 10.0 10.0 | 10.0 62.0 | 10.0
B 30.0[ 10,0 10.0 10. 0 13. 0 10. 0 10. 0 10. 0 10.0
1190.0 | 902.0 [ 1334.0 [ 866.0 | 1046.0 | 1118.0 | 1046.0 | 1622.0 | 902.0
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HH 16.0 31.0 154. 0 130. 0 100. 0 123.0 16. 0 64. 0 52. 0
ml 10.0 48. 0 28.0 98. 0 25.0 33.0 28. 0 12.5 10. 0
*| 31.0 113.0 10.0 54.0 19.0 28.0 31.0 21.0 31.0
Z Il 43.0 38. 0 40.0 74. 0 52.0 87.0 34. 0 30. 5 10.0
J#E|  55.0 23.0 22.5 10. 0 13.0 63.0 52. 0 33. 5 10. 0
Bl 19.0 52.0 67.5 10.0 10.0 10.0 49.0 49.0 31.0
F 22.0 16. 0 22.5 10.0 46. 0 135.0 55.0 10.0 10. 0
7 37.0 52. 0 30. 0 10.0 58. 0 39. 0 10.0 18.5 10.0
o 10.0 19.0 10.0 82.0 13.0 78. 0 10.0 31.0 10. 0
WEEl 10.0 12.0 22.5 22.0 49. 0 10.0 10. 0 20. 0 40. 0
41l 61,0 10. 0 15. 0 38.0 22.0 222.0 46. 0 45,0 10. 0
] 10.0 19.0 66. 0 94. 0 10. 0 55. 0 10.0 23.5 10. 0
ol 64.0 29. 0 17.5 22. 0 100. 0 55. 0 10. 0 15.0 43.0
A  58.0 23.0 40. 0 10. 0 34. 0 76. 0 10. 0 22.5 19.0
Wl 34.0 16. 0 35. 0 10.0 58. 0 28. 0 34. 0 27. 0 19. 0
i 22.0 51.0 29.5 10. 0 46. 0 18.0 10.0 27.5 31.0
JIl 49.0 51.0 10.0 10. 0 10. 0 94. 0 10.0 12.5 10. 0
Bl 250 24.0 10.0 38.0 25.0 12.0 a7 B 23.0 10. 0
El10.0 1.0 10.0 10.0 22,1 24.0 28. 0 18.0 10. 0
2l 13.0 42.0 25.5 10. 0 10. 0 42. 0 10. 0 40. 0 10. 0
EL 10,0 10. 0 10. 0 10. 0 19.0 26. 0 10.0 10.0 10. 0
A 46.0 37.0 10.0 10. 0 19.0 25.0 10.0 10.0 10. 0
g 49.0 20. 0 10.0 10.0 22.0 31.0 13.0 10.0 10. 0
Bl 3.0 10. 0 10. 0 10.0 10.0 27.0 10. 0 17.5 10.0
Il 28.0 32. 0 37.5 10. 0 10. 0 10. 0 10. 0 30. 5 10. 0
= 10.0 64. 0 10. 0 10. 0 10. 0 26. 0 31.0 10.0 10. 0
(il 61.0 36. 0 10.0 10. 0 28.0 43.0 19.0 10. 0 10. 0
Bl 46.0 21,0 10.0 10. 0 10. 0 10. 0 10. 0 12.5 10. 0
] 10.0 10. 0 10.0 10. 0 10. 0 113.0 10.0 10. 0 25.0
F 10.0 28.0 10.0 10.0 310 370 10. 0 23.0 10. 0
5 10. 0 21.0 45. 0 10.0 13,0 11,0 78.0 10. 0 10. 0
#H 10.0 10. 0 10.0 22 0 10. 0 19,0 10. 0 10. 0 10. 0
] 19.0 10.0 52. 5 10.0 10. 0 83,0 10.0 10. 0 22. 0
F 34.0 10. 0 10.0 10.0 49,0 27.0 19.0 10. 0 10. 0
I 10.0 36. 0 17.5 22.0 82.0 20. 0 19. 0 7.5 13. 0
i 28.0 11.0 35. 0 10. 0 19.0 41. 0 10. 0 15.0 10. 0
il 64.0 10.0 10.0 10. 0 10. 0 13.0 10.0 10.0 10. 0
H 10. 0 28. 0 10. 0 10.0 10. 0 25.0 10. 0 10.0 10. 0
M 43.0 11.0 10.0 10.0 61.0 10. 0 10. 0 22.5 10. 0
fEl 25.0 11.0 10. 0 10. 0 10. 0 18.0 10.0 15.0 10.0
Wl 28.0 14. 0 10.0 10.0 10.0 73.0 10. 0 10. 0 10. 0
wEl  46.0 15.0 10.0 10. 0 10. 0 10.0 10. 0 10. 0 10. 0
Bl 49.0 10.0 10. 0 10. 0 64.0 33.0 10.0 19.5 10. 0
B 10.0 10. 0 35.0 10.0 10. 0 29.0 10.0 10. 0 10. 0
Ak 19. 0 10.0 10. 0 10. 0 10. 0 49. 0 28.0 12.5 10. 0
Ml 13.0 20. 0 10.0 10.0 25.0 10.0 10.0 12.5 10. 0
[ 16. 0 41.0 10.0 10. 0 10.0 10. 0 10.0 10.0 10. 0
1334.0 | 1226.0 | 1118.0 | 1046.0 | 1334.0 | 2054.0 | 902.0 | 902.0 | 686.0
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4 B 7
B H 19. 0 76. 0 10. 0 10.0
i o 16.0 40. 0 48. 0 52.0
B E|  34.0 10.0 75. 0 10. 0
w25 Il 31,0 10.0 15.0 10. 0
L ] 28.0 64. 0 33.0 17.5
X [ 10.0 10.0 44.0 11.5
= H 22.0 22.0 68.0 28.0
T 10.0 19,0 45.0 31.0
s # 10,0 10. 0 39.5 34.0
b #F a5l 13,0 10. 0 57.0 16. 0
Xl 10.0 10.0 28. 0 10.0
f@ [l 10.0 29 0 56. 5 50. 5
=] 10.0 19. 0 26. 0 32.5
e ARl 10.0 31.0 10.0 10.0
o |l 10. 0 10. 0 52.0 17.5
[ 43.0 34.0 37.0 10. 0
4 Il 1000 10. 0 17. 0 11.5
= Bl 310 10. 0 53.0 11.0
o Bl 1000 10.0 10.0 10.0
I B 10. 0 10.0 26.0 10.0
. El 10,0 10. 0 13.0 11.0
i AR 43.0 10. 0 31.0 25. 0
£ 19.0 10.0 10.0 11.5
B 10.0 34.0 33. 0 19.0
KWl 22,0 10. 0 10. 0 55. 0
Bt El 1000 10. 0 21.0 10. 0
& Wl 1000 10. 0 11.0 10. 0
=~ Bl 10.0 10. 0 16.0 28. 0
& JIp 10.0 49. 0 10. 0 10. 0
o A& 25,0 10. 0 65. 0 25. 0
= A 10. 0 34.0 16.0 10. 0
5 #F 10.0 10. 0 12.0 10. 0
¥l 10.0 10. 0 32.0 10. 0
= T 1000 10. 0 10. 0 22. 0
& IF§ 10. 0 13.0 19.0 10. 0
E 10.0 10. 0 11.0 10. 0
= H| 10.0 16. 0 10. 0 10. 0
o ] 10,0 10. 0 10. 0 12.5
o 10. 0 10. 0 14. 5 10. 0
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